hegibau

=

BASTELN 3 BASTELN 4
BF15.86 m? BF15.86 m?

KELLER 6
BF8.64 m?

KELLER 7
BF8.64 m?

KELLER 8
BF8.64 m?

KELLER 9
BF8.64 m?

KELLER 10
BF10.65 m?

4

3.0G | 49-3.15| 49-3.14| 49-3.13 | 49-3.12

GANG
BF23.82 m?

2.0G | 49-211| 49-210| 49-29 49-2.8

1.0G | 49-17 | 49-16 | 49-15 | 49-14

KELLER KELLER 14 TROCKNEN 1

BF7.42 m? BF7.45 m? BF7.72 m? EG 49-0.3 49-0.2 49-0.1
UG
KELLER 13 TROCKNEN 2
BF7.34 m2 BF7.72 m? N
T WASSER TECHNIK KELLER 12 KELLER 11
poc==s BF4.73 m? BF20.00 m? BF7.45 m? BF7.54 m?
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